Strike State Machine

Part A
S1 So strike  foul | NS1 NSy out
0 0 0 0 0 0 0
0 0 0 1 0 1 0
0 0 1 0 0 1 0
0 1 0 0 0 1 0
0 1 0 1 1 0 0
0 1 1 0 1 0 0
1 0 0 0 1 0 0
1 0 0 1 1 0 0
1 0 1 0 0 0 1
Part B
NS, NS, ~ out
(oo @J%strikei 0 ﬂ 0|0 {sike (00|00
S B S S
o X [|x]]| o (1 x| x| o 0o X |[x]1
strike strike
[1 X | X x] 0| X | X | X 0| X |IX | X
$ ot ) 5
01 |lx W%smke E 0| X |(x §smke 00| x]|x
N I NS I NS I
foul foul foul foul foul foul foul foul foul
NS, = strike So + foul Sy + strike S1
NSy = Sy S strike + So S1 foul + Sy strike foul
out = S strike
Part C _
== > ={
s1
strike S0
=2 g om ] G -
Sl —— NSO NS1
foul Sy
w2 ) =
strike
Toul S1

S1 —
strike

one bit
NSO —— )

register

one hit
NS1 )

register

S1



